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PEMDAS (3 terms)
Order of Operations Worksheet

Solve the following.

11 + 33 − 7 = 52 − 7 × 2 =

22 + 8 ÷ 4 = 62 × 3 ÷ 9 =

6 + 63 − 12 = 8 × 123 + 11 =

82 × 2 ÷ 4 = 73 + 12 ÷ 3 =

3 + 92 − 5 = 5 + 9 × 33 =

63 − 42 + 8 = 7 + 13 − 8 =
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PEMDAS (3 terms)
Order of Operations Worksheet

Solve the following.

11 + 33 − 7 = 31 52 − 7 × 2 = 11

22 + 8 ÷ 4 = 6 62 × 3 ÷ 9 = 12

6 + 63 − 12 = 210 8 × 123 + 11 = 13,835

82 × 2 ÷ 4 = 32 73 + 12 ÷ 3 = 347

3 + 92 − 5 = 79 5 + 9 × 33 = 248

63 − 42 + 8 = 208 7 + 13 − 8 = 0


